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20,0002 2 *602 2,400
301 LerE A 12,000 12,000
11 SHAAHI K22 12,000 12,000
OE2JINE BEN Y NEEZX 23
= 6,000,0002!%23] 12,000
IEIEL 15,692,737 5,971,767 9,720,970
oldigl 22l 15,692,737 5,971,767 9,720,970
oldIbl XI= 15,692,737 5,971,767 9,720,970
801 oIl 15,692,737 5,971,767 9,720,970
1 2erogigl 4,910,120 2,838,113 2,072,007
Oogetoligibl 4,910, 120,0002 4,910,120
B ueEsea 10,782,617 1,133,654 9,648,963
ousseH 10,782,617,0002 10,782,617
Y SIAHI(DIEE2EA) 74,404 98,750 N24,346
JI2FHI(O12E2A) 74,404 82,750 18,346
Jl=23H1(01") 50,120 54,250 24,130
201 LEr2HY| 41,720 41,950 A230
01 At 2reltl 41,720 41,950 A230
OFIEIES=1] 37,800
-SARY SUNHY 23,400,0002 23,400
—2pjmelE ARE
800,0002 x4 133 9,600
SDEEA)| ARE(M2ATY EH,8X)
4,800,000 4,800
o= 3,920
-PARY SUAH A 3,920,000 3,920
202 OfH| 4,200 8,100 A3,900
01 2401t 4,200 8,100 A3,900
ORANRY Su4 4,200,000 4,200
203 P2 =AY 4,200 4,200
M PAREADTAIY 4,200 4,200
ORANRYALTAH|(BA BY) 4,200
-H e 2501 0|5} 350,000 122 4,200
J|=2ZHI(AXHAASH R ) 5,800 4,100 1,700
201 Ler2 Y| 2,800 1,400 1,400




2h: JlEEDA
M BHSAAY|(O|HE2A)
SRl J12ZHIOI12E24) (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 AtR2telbl 2,800 1,400 1,400
OsEH| 2,800
-EAEE SHAY 2,800,000 2,800
202 044l 3,000 2,700 300
01 =LHO LI 3,000 2,700 300
FASE SHAHA 3,000,000& 3,000
J123H[ (0l 4,648 6,600 AN1,952
201 Zet2& ] 2,248 2,800 PANG Vi
01 AtR2telb] 2,248 2,800 D52
O=gHtl 2,248
-FAEY SHAY 2,248,000& 2,248
202 04| 2,400 3,800 1,400
01 =L LI 2,400 3,800 A1,400
ORAN2g S99 2,400,000 2,400
JI23H[(ZA}) 5,800 6,400 A600
201 Zet2& ] 2,800 2,800 0
01 AtR2telbl 2,800 2,800 0
O=gHtl 2,800
-FAEE SWA 2,800,000& 2,800
202 04| 3,000 3,600 AB600
01 2L AL 3,000 3,600 A600
ORMEE SHAS 3,000,000& 3,000
JI2dul(E8) 8,036 7,300 736
201 =3 3,836 2,800 1,036
01 AFS2t2ltl 3,836 2,800 1,036
O=gtl 3,836
-FA2E Sd 3,836,000 3,836
202 04| 4,200 4,500 A300
01 AL 4,200 4,500 A300
SENEE SHAY 4,200,000 4,200




